E(ERER D FRLR)

1:25,000)

= (s

e

NN

=[x
1]

A

f

E

EIo&

—
N—

=MAE

<L
N

)

J

IH

b4

-~
~
/.

"

n
T
NS

WL LT
Y.L

BRIR
X4FE

B AREB

tERHh D
057B2007
7]

N

&
[ 1th 75 #i

EFREETELL
B

EH (s

EY

B

L
A

A

o

®iE #B

L]

BABRRDE

1:200,000)

iz




REMNMOBFERRXREHRE

BRI—1 REOSINOHELM. ELLVEEOBINOHELBORER i _ HEEE FRISEE
Z B35 W oL B BREE  05iB200] | ERE B R %sr:z AERENECiE
.4
il 1:2,500
A
\\ a 0 50 100 m
L B 2 0
u LiF AR BEOBINOHELRORE TEBOBBIZESNAI00N MEB2 %R
LB —— ELLAEOETNOBS L DK —— tREOHHEEHImERL S

EFR



RIER D AR IR R EERE

A3 —2 BEVICEMRILLBESNLIEHEICETIEE (1/1) _ | RAEEE TRUIBEE
SEAMONE | BEs 057B2007 EhiEa \ Hr | PArfEth A F AR EILXIFE
SUERIMO TiRIZBEET 51 SER MR
o LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 475 59.21| #h 4t [ 000 ~ 0.00 1.67 8.46 Zhn st 1.00] 500 ~ 5.00 59.21] #hist | 5.00 ~ 500| 1.67 8.46
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 6.49 81.80| #hli4 | 000 ~ 0.00| 1.64 8.31 Zhn st 1.00] 500 ~ 7.97 81.80] #h st | 500 ~ 7.97| 1.64 8.31
3 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 6.53 82.25| #h 4t | 0.00 ~ 0.00f 1.72 8.71 Zhn st 1.00] 500 ~ 7.78 82.25| #huist | 500 ~ 778 1.72 8.71
4 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Fh st 1.00/ 000 ~ 7.49 95.74| #hilst (000 ~ 7.49| 206 10.39 ZFh st 1.00] 5.00 ~ 10.14 95.74| ZhList | 500 ~ 10.14| 2.06 10.39
5 100kN/mM%#B % % 1.00/0.00 ~ 0.28 104.15|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00[ 11.02 ~ 11.90 104.15|3m%i#BZ % -~ - - -
Fh st 1.00/0.28 ~ 8,07 100.00| Zh k14t |0.00 ~ 8.07[ 2.05 10.34 Fh st 1.00] 5.00 ~ 11.02 100.00f Zhiust | 500 ~ 11.90| 2.05 10.34
6 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
ZFh st 1.00/ 000 ~ 7.52 96.17| #hilst (000 ~ 7.52| 210 10.61 Fh st 1.00] 5.00 ~ 10.01 96.17| #hilst | 500 ~ 10.01] 2.10 10.61
; 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
ZFh st 1.00/ 0,00 ~ 7.09 90.10| #hilst (000 ~ 7.09] 1.94 9.78 Fh st 1.00] 5.00 ~ 1022 90.10| #hilsh | 500 ~ 10.22| 1.94 9.78
8 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhnst 1.00{0.00 ~ 6.65 83.90| Zh L4 |0.00 ~ 0.00| 1.77 8.94 Zhn st 1.00] 500 ~ 8.00 83.90| #h st | 5.00 ~ 8.00| 1.77 8.94
9 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.0010.00 ~ 7.28 92.77] #h st | 000 ~ 7.28] 1.93 9.76 Zhn st 1.00] 5.00 ~ 10.85 92.77] #h st | 5.00 ~ 10.85| 1.93 9.76
10 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.0010.00 ~ 744 95.02| #h st [ 000 ~ 744 1.94 9.80 Zhn st 1.00] 500 ~ 11.26 95.02| #h st | 5.00 ~ 11.26| 1.94 9.80
» 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/M%E# %% - -~ - -|3mEEZD -~ - - -
ZFh st 1.00/ 000 ~ 7.62 97.64| #hilst (000 ~ 7.62| 203 10.24 Fh st 1.00] 5.00 ~ 10.71 97.64| #hils | 500 ~ 10.71] 2.03 10.24
12 100kN/mM%#B % % 1.00/0.00 ~ 0.20 102.98|3m%E#BZB| - ~ - - -| 100kN/mM%#8 2% 1.00[ 11.15 ~ 11.79 102.98|3m%E#BZ % -~ - - -
ZFh st 1.00/0.20 ~ 7.99 100.00| Zhli4t |0.00 ~ 7.99[ 2.03 10.27 Fh st 1.00] 500 ~ 11,15 100.00f Zh it | 500 ~ 11.79] 2.03 10.27
13 100kN/m%#B % % 1.00{0.00 ~ 052 107.72|3m%E#BZB| - ~ - - -| 100kN/mM%#8 2% 1.00[ 1057 ~ 12.00 107.72|3m%#BZ 2 -~ - - -
Zhnist 1.00]0.52 ~ 8.31 100.00| #h st [0.00 ~ 831 2.23 11.27 Zhn st 1.00] 5.00 ~ 10.57 100.00| #h st | 5,00 ~ 12.00| 2.23 11.27
14 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 6.65 83.92| #h 4t | 0,00 ~ 0.00( 1.74 8.80 Zhn st 1.00] 500 ~ 8.00 83.92| #h st | 500 ~ 800| 1.74 8.80
15 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - -
Fn Lot 1.00]0.00 ~ 6.65 83.91| #hilst | 000 ~ 000 1.77 8.93 Fn Lot 1.00] 500 ~ 8.00 83.91| #nblls | 500 ~ 800 1.77 8.93




